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JKSSB 19th Dec 2022 Shift 2
(Candidate Response Sheet)

Roll Number
Name of the

Candidate
Examination Name JKSSB Sub Inspector Home Set 22

Exam Date & Time 19-12-2022 02:30:00

Subject : SIH22_JKSSB_DEC22

Question ID:- 605

How many people can work in the office if each person requires one table
and one chair, In the office there are 108 tables and 132 chairs. If 1/6 of
the tables and 1/4 of the chairs are broken.

Options:-

90, Option ID :- 2417,

= 80, Option ID :- 2418,
=« 100, Option ID :- 2419,
= 95, Option ID :- 2420,

Answer Given:- 90, Option ID : -2417
Correct Answer :- 90 Option ID :- 2417

Question ID:- 530
A Ministers of the Council of Minister, takes oath in front of
before entering upon his office.

Options:-

=«President, Option ID :- 2117,
= Prime Minister, Option ID :- 2118,

» Council of Ministers, Option ID :- 2119, . Chief Justice of India, Option ID :-

2120,

Answer Given:- President, Option ID : -2117
Correct Answer :- President Option ID :- 2117
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Question ID:- 544

Which global financial institution has invested $100 million equivalent
in the Fund of Funds of National Investment and Infrastructure Fund

(NIIF) as an investor in 2021, making it the institution's first foray into
India?

Options:-

«World Bank, Option ID :- 2173,

= New Development Bank, Option ID :- 2174,

=« Asian Development Bank, Option ID :- 2175,

= International Monetary Fund, Option ID :- 2176,

Answer Given:- Not Attempted
Correct Answer :- New Development Bank Option ID :- 2174

Question ID:- 500

Which badminton legend received the Sports Journalists Federation of India
medal (SJFI medal) for 2019 ?
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Options:-

«Sankar Muthusamy Subramanian, Option ID :- 1997,
» Pullela Gopichand, Option ID :- 1998,

« Dipankar Bhattacharjee, Option ID :- 1999,

» Prakash Padukone, Option ID :- 2000,
Answer Given:- Not Attempted
Correct Answer :- Prakash Padukone Option ID :- 2000
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Question ID:- 512
Who started the English weekly ‘Young India’?

Options:-

«Madan Mohan Malviya, Option ID :- 2045,
» Lala Lajpat Rai, Option ID :- 2046,

« Bipin Chandra Pal, Option ID :- 2047,

« Dada Bhai Naoroji, Option ID :- 2048,
Answer Given:- Bipin Chandra Pal, Option ID : -2047
Correct Answer :- Lala Lajpat Rai Option ID :- 2046

Question ID:- 534
How many schedules are there in the J&K Reorganisation Act, 2019?

Options:-

«4, Option ID :- 2133,
« 5, Option ID :- 2134,
« 6, Option ID :- 2135,

« 7, Option ID :- 2136,
Answer Given:- 5, Option ID : -2134
Correct Answer :- 5 Option ID :- 2134

Question ID:- 578
Which of the following is a treatment that makes over your kidney functions if
those organs stop doing their job?

Options:-

«dialysis , Option ID :- 2309,

= osmosis , Option ID :- 2310,
« diffusion , Option ID :- 2311,

« plasmolysis, Option ID :- 2312,
Answer Given:- dialysis , Option ID : -2309
Correct Answer :- dialysis Option ID :- 2309

Question ID:- 591
Find the odd one out from the following given options:

Options:-

«4=>15, Option ID :- 2361,

« 6=>35, Option ID :- 2362,
=« 8=>65, Option ID :- 2363,
= 10=>99. Obntion ID :- 2364.
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Question ID:- 539
What does “TDSAT” refer to?
Options:-

= A Satellite, Option ID :- 2153,
» A Telecom Operator, Option ID :- 2154,
« A Company, Option ID :- 2155,

« A Tribunal, Option ID :- 2156,
Answer Given:- A Satellite, Option ID : -2153
Correct Answer :- A Tribunal Option ID :- 2156

Question ID:- 523
Which of the following country is the largest producer of Shale gas ?

Options:-

«UAE, Option ID :- 2089,

« Canada, Option ID :- 2090,

« United States, Option ID :- 2091,

» Europe, Option ID :- 2092,
Answer Given:- United States, Option ID : -2091
Correct Answer :- United States Option ID :- 2091

Question ID:- 607
From the following given options decimal representation of 1/25s :

Options:-

«4, Option ID :- 2425,

« 0.4, Option ID :- 2426,
« 0.04, Option ID :- 2427,

« 0.004, Option ID :- 2428,
Answer Given:- 0.04, Option ID : -2427
Correct Answer :- 0.04 Option ID :- 2427

Question ID:- 501
When is the 73rd Raising Day of Territorial Army celebrated ?

Options:-

»11 August, Option ID :- 2001,

» 23 September, Option ID :- 2002,
= 9 October, Option ID :- 2003,

» 2 November, Option ID :- 2004,
Answer Given:- Not Attempted
Correct Answer :- 9 October Option ID :- 2003

Question ID:- 545

Which of the mentioned schemes deals with the prevention of Trafficking
and rescue, Rehabilitation and reintegration of Victims of Trafficking and
Commercial Sexual Exploitation?

Options:-
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» Priyadarshini, Option ID :- 2179,

« Ujjawala, Option ID :- 2180,
Answer Given:- Not Attempted
Correct Answer :- Ujjawala Option ID :- 2180
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Question ID:- 541
What is the Tax to GDP ratio for the fiscal year 2021-20227

Options:-

= 8.88%, Option ID :- 2161,

« 11.70%, Option ID :- 2162,
« 10.88%, Option ID :- 2163,

» 9.88%, Option ID :- 2164,
Answer Given:- Not Attempted
Correct Answer :- 11.70% Option ID :- 2162

Question ID:- 522
A large area of urban development that emerged from the merging of
formerly separate towns or cities is called:

Options:-

«Conurbation, Option ID :- 2085,
« Suburb, Option ID :- 2086,

» Glued Towns, Option ID :- 2087,

» None of these, Option ID :- 2088,
Answer Given:- Not Attempted
Correct Answer :- Conurbation Option ID :- 2085

Question ID:- 598
One day, Rahul started walking and move 3 km towards east direction and

then turned right and move 9 km and again he turned right and move 15
km straight. Find the shortest distance covered by Rahul from starting point
to destination and in which direction is he from starting point?

Options:-

«15 km in the South-West , Option ID :- 2389,
»« 15 km in the North, Option ID :- 2390,

=« 25 km in the North -east, Option ID :- 2391,

=« None of these , Option ID :- 2392,
Answer Given:- 15 km in the South-West , Option ID : -2389
Correct Answer :- 15 km in the South-West Option ID :- 2389

Question ID:- 571
When the listener responds even before the speaker has finished talking,

which of the following barriers come into play?
Options:-

«Becoming distracted, Option ID :- 2281,
» Wrong focus, Option ID :- 2282,

» Jumping to conclusions, Option ID :- 2283,

- _ = _m®"_ __ _ N &~ _a"_ __ we _ ~ A
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Correct Answer :- Jumping to conclusions Option ID :- 2283

Question ID:- 565
Complete the given sentence using the appropriate option:

Vivaan went to work in Bengaluru a year ago, and we haven't seen him

Options:-

sSince, Option ID :- 2257,

« during, Option ID :- 2258,
« for, Option ID :- 2259,

« unless, Option ID :- 2260,
Answer Given:- since, Option ID : -2257
Correct Answer :- since Option ID :- 2257

Question ID:- 528
India is described as in a constitution.

Options:-

s Federation of states, Option ID :- 2109,

« Union of states, Option ID :- 2110,

« Collaboration of states, Option ID :- 2111,

« Unitary state, Option ID :- 2112,
Answer Given:- Union of states, Option ID : -2110
Correct Answer :- Union of states Option ID :- 2110

Question ID:- 564

Fill in the blank by using the correct appropriate word from the following
given options :

Anita was carrying a of flowers.

Options:-

«pile, Option ID :- 2253,

=« bouquet, Option ID :- 2254,

« herd, Option ID :- 2255,

=« Swarm, Option ID :- 2256,
Answer Given:- bouquet, Option ID : -2254
Correct Answer :- bouquet Option ID :- 2254

Question ID:- 583
Microprocessors are being used in which of the following?

Options:-

smodem , Option ID :- 2329,

= remote controllers , Option ID :- 2330,
» telephone sets , Option ID :- 2331,

« All of these , Option ID :- 2332,

Answer Given:- All of these , Option ID : -2332
Correct Answer :- All of these Option ID :- 2332
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FING tne average or tne ronowing numoers .
385, 441, 876, 221, 536, 46, 291,428

Options:-

=403, Option ID :- 2437,
« 230, Option ID :- 2438,
« 380, Option ID :- 2439,

»« 545, Option ID :- 2440,

Answer Given:- 403, Option ID : -2437
Correct Answer :- 403 Option ID :- 2437
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Question ID:- 536

In 2020, The Reserve Bank of India revised the ‘Supervisory Action
Framework’ for a certain category of banks. Identify it.

Options:-

«Payments Banks, Option ID :- 2141,

« International Banks, Option ID :- 2142,
= Regional Rural Banks, Option ID :- 2143,

» Urban Cooperative Banks, Option ID :- 2144,
Answer Given:- Payments Banks, Option ID : -2141
Correct Answer :- Urban Cooperative Banks Option ID :- 2144

Question ID:- 611

A man walks a distance of 48 km in a given time. If he walks 2 kman hour
faster, he will perform the journey 4 hours before. Find his normal rate of
walking.

Options:-

«4 km/hr, Option ID :- 2441,

» 8 km/hr, Option ID :- 2442,

=« 2 km/hr, Option ID :- 2443,

« 9 km/hr, Option ID :- 2444,
Answer Given:- 4 km/hr, Option ID : -2441
Correct Answer :- 4 km/hr Option ID :- 2441

Question ID:- 525
The state of was renamed to Karnataka.

Options:-

«Madras, Option ID :- 2097,

» Bangalore, Option ID :- 2098,
« Manglore, Option ID :- 2099,

« Mysore, Option ID :- 2100,
Answer Given:- Mysore, Option ID : -2100
Correct Answer :- Mysore Option ID :- 2100

Question ID:- 548
Which of the following is the bird of the Union Territory of Jammu and
Kashmir ?

Options:-
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« Griffon Vulture, Option ID :- 2190,
= Kalij Pheasant, Option ID :- 2191,

= Snow Cock, Option ID :- 2192,
Answer Given:- Kalij Pheasant, Option ID : -2191
Correct Answer :- Kalij Pheasant Option ID :- 2191
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Question ID:- 590
L is taller than M but shorter than N. V is taller than R. M is taller than V. Who

is the shortest?

Options:-

«R, Option ID :- 2357,

« M, Option ID :- 2358,
« L, Option ID :- 2359,

= N, Option ID :- 2360,
Answer Given:- R, Option ID : -2357
Correct Answer :- R Option ID :- 2357

Question ID:- 510
Who among the following was the Viceroy when the Simon Commission

visited India?

Options:-

sLloyd George, Option ID :- 2037,
= Lord Irwin, Option ID :- 2038,

» Lord Reading, Option ID :- 2039,

=« Lord Ripon, Option ID :- 2040,
Answer Given:- Lord Irwin, Option ID : -2038
Correct Answer :- Lord Irwin Option ID :- 2038

Question ID:- 601
Which of the following Venn Diagrams correctly

represent the relation between "Rats , Pigeons,
Tigers" as exists in the real world.

&%
G @

(1 (2)
Options:-
«1, Option ID :- 2401,
= 2, Option ID :- 2402,
=« 3, Option ID :- 2403,

= 4, Option ID :- 2404,
Answer Given:- 4, Option ID : -2404
Correct Answer :- 4 Option ID :- 2404

Question ID:- 514
Ajanta mountain range is spread:

Options:-

«Maharashtra and Madhya Pradesh, Option ID :- 2053,
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» Madhya Pradesh and Chhattisgarh , Option ID :- 2055,

» Entirely in Maharashtra, Option ID :- 2056,
Answer Given:- Maharashtra and Madhya Pradesh, Option ID
Correct Answer :- Entirely in Maharashtra Option ID :- 2056
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: -2053

Question ID:- 499
Where was the 47th meeting of the GST Council, chaired by Finance Minister
Nirmala Sitharaman, in June 2022 was, held in which of the following ?

Options:-

«New Delhi, Option ID :- 1993,
» Bangalore, Option ID :- 1994,
« Bombay, Option ID :- 1995,

« Chandigarh, Option ID :- 1996,
Answer Given:- Not Attempted
Correct Answer :- Chandigarh Option ID :- 1996

Question ID:- 540
Where is the headquarters of Asian Infrastructure Investment Bank
(AlIB) located?

Options:-

s Tokyo, Option ID :- 2157,

» London, Option ID :- 2158,
« Beijing, Option ID :- 2159,

« New York, Option ID :- 2160,
Answer Given:- Beijing, Option ID : -2159
Correct Answer :- Beijing Option ID :- 2159

Question ID:- 511
Neel Darpan a 19th century play depicting the treatment of the Indian

peasantry by the European indigo planters was written by who among the
following?

Options:-

«Surendranath Banerjea, Option ID :- 2041,
» R.C. Dut, Option ID :- 2042,

»« Dinabandhu Mitra, Option ID :- 2043,

» Harish Chandra Mukherjee, Option ID :- 2044,
Answer Given:- Dinabandhu Mitra, Option ID : -2043
Correct Answer :- Dinabandhu Mitra Option ID :- 2043

Question ID:- 574

Which of the following is non-biodegradable substance?
Options:-

«Glass, Option ID :- 2293,

« cotton cloth, Option ID :- 2294,

» wood, Option ID :- 2295,

« paper, Option ID :- 2296,
Answer Given:- Glass, Option ID : -2293
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Question ID:- 495
Who received the best actor in a leading role award in the 94th Academy awards
Oscar 2022 ?

Options:-

«Javier Bardem, Option ID :- 1977,

» Denzel Washington, Option ID :- 1978,
» Jared Bush, Option ID :- 1979,

« Will Smith, Option ID :- 1980,
Answer Given:- Will Smith, Option ID : -1980
Correct Answer :- Will Smith Option ID :- 1980
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Question ID:- 557
Which of the following is non-biotic pollutant of underground water ?

Options:-

sArsenic, Option ID :- 2225,
» Viruses, Option ID :- 2226,
« Algae, Option ID :- 2227,

» None of these, Option ID :- 2228,
Answer Given:- Arsenic, Option ID : -2225
Correct Answer :- Arsenic Option ID :- 2225

Question ID:- 538
Who coined the slogan 'Garibi Hatao Desh Bachao'?

Options:-

«Indira Gandhi, Option ID :- 2149,

« Morarji Desai, Option ID :- 2150,

» Manmohan Singh, Option ID :- 2151,

« Bipin Chandra Pal, Option ID :- 2152,
Answer Given:- Morarji Desai, Option ID : -2150
Correct Answer :- Indira Gandhi Option ID :- 2149

Question ID:- 589
813, 479, 564,358

In the above series, if the first and last digits are interchanged, which
number will be of maximum value ?

Options:-

=479, Option ID :- 2353,
» 564, Option ID :- 2354,
« 813, Option ID :- 2355,

« None of these, Option ID :- 2356,
Answer Given:- 479, Option ID : -2353
Correct Answer :- 479 Option ID :- 2353

Question ID:- 569

Select from the following given options a word which can subsitute the given
phrase :

Page- 10
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Options:-

« Audible, Option ID :- 2273,

« Faint, Option ID :- 2274,

» Unhearable, Option ID :- 2275,

=« None of these, Option ID :- 2276,
Answer Given:- Audible, Option ID : -2273
Correct Answer :- Audible Option ID :- 2273
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Question ID:- 520

Which statement is true for Coriolis force ?

1. Circulating air is deflected toward right in Northern Hemisphere
2. Itis negligible at poles

Options:-

«Only 1, Option ID :- 2077,

« Only 2, Option ID :- 2078,
« 1 and 2, Option ID :- 2079,

« None of these, Option ID :- 2080,
Answer Given:- Not Attempted
Correct Answer :- Only 1 Option ID :- 2077

Question ID:- 596
If the under given letters of English alphabet are arranged in

proper sequence, we get the name of a well recognised as
per standard English Vocabulary.
[G,E R,R,U,B]

Options:-

«Food Item, Option ID :- 2381,
« Country, Option ID :- 2382,

= Month, Option ID :- 2383,

« State, Option ID :- 2384,
Answer Given:- Food Item, Option ID : -2381
Correct Answer :- Food Item Option ID :- 2381

Question ID:- 517
What is the name of Geoportal of ISRO ?

Options:-

« Yukti, Option ID :- 2065,

« Bhuvan, Option ID :- 2066,
« Ayaam, Option ID :- 2067,

» Saksham, Option ID :- 2068,
Answer Given:- Not Attempted
Correct Answer :- Bhuvan Option ID :- 2066

Question ID:- 606
If a pen cost Rs.50 after 10% discount, then what is the actual price or

marked price (MP) of the pen?
Options:-
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» Rs 45.25, Option ID :- 2422,
» Rs 38.12, Option ID :- 2423,

» Rs 41.22, Option ID :- 2424,

Answer Given:- Rs 55.55, Option ID : -2421
Correct Answer :- Rs 55.55 Option ID :- 2421

Question ID:- 515
The districts, Almora and Nainital belongs to :

Options:-

«Garhwal region, Option ID :- 2057,
« Kumaon region, Option ID :- 2058,
« Dhauladhar, Option ID :- 2059,

» None of these, Option ID :- 2060,
Answer Given:- Garhwal region, Option ID : -2057
Correct Answer :- Kumaon region Option ID :- 2058

Question ID:- 604

The question given below, two statements | & 11 have been given. Analyse
and answer whether the data provided in the two statements are sufficient
to answer the question or not.

What is Tina's rank in the class?

|. There are 45 students in the class.
11. 42 students scored less than Tina.

Options:-

«Statement I alone is sufficient, but statement II alone is not sufficient , Option
ID :- 2413,

« Statement II alone is sufficient, but statement I alone is not sufficient, Option
ID :- 2414,

« Data in both the statements together are not sufficient, Option ID :- 2415,

» Both statement I and statement II together are needed, Option ID :- 2416,
Answer Given:- Both statement I and statement II together are needed, Option ID
1 -2416

Correct Answer :- Both statement I and statement II together are needed Option
ID :- 2416

Question ID:- 560
Choose the option from the following which is similar in meaning

(synonym) to the bold word in the given sentence:

Some of the younger pop bands try to emulate their musical heroes from
the past.

Options:-

«natural, Option ID :- 2237,

« differ, Option ID :- 2238,

« absolute, Option ID :- 2239,
= mimic, Option ID :- 2240,

Answer Given:- mimic, Option ID : -2240
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Question ID:- 547
What is the divestment target of the Indian Government set for 2022-
20237

Options:-

«Rs. 65000 crores, Option ID :- 2185,

» Rs. 2.1 Lakh Crores, Option ID :- 2186,
= Rs. 3.1 Lakh Crores, Option ID :- 2187,

» Rs. 5 Lakh Crores, Option ID :- 2188,
Answer Given:- Not Attempted
Correct Answer :- Rs. 65000 crores Option ID :- 2185
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Question ID:- 537
The Tendulkar committee has adopted as the basis for
measuring poverty?

Options:-

»Cost of Living, Option ID :- 2145,

« Inequality & growth, Option ID :- 2146,

« Census of Poor people, Option ID :- 2147,

» Income Data of the country, Option ID :- 2148,
Answer Given:- Cost of Living, Option ID : -2145
Correct Answer :- Cost of Living Option ID :- 2145

Question ID:- 575
The gas used as a coolant in the refrigerator is

Options:-

«Freon-12, Option ID :- 2297,

« Neon, Option ID :- 2298,

« Carbon dioxide, Option ID :- 2299,

= Chloropicrin , Option ID :- 2300,
Answer Given:- Freon-12 , Option ID : -2297
Correct Answer :- Freon-12 Option ID :- 2297

Question ID:- 554
Which of the following is not the international organization partners to

the Ramsar Convention ?

Options:-

«Birdlife International, Option ID :- 2213,

» Wetlands International, Option ID :- 2214,

» International Water Management Institute, Option ID :- 2215,

« Global Environment Facility, Option ID :- 2216,
Answer Given:- Wetlands International, Option ID : -2214
Correct Answer :- Global Environment Facility Option ID :- 2216

Question ID:- 581
Which among the following is not an example of an insulator?

Options:-

«Rubber, Option ID :- 2321,
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» Plastic, Option ID :- 2322,
» Copper, Option ID :- 2323,

» Glass, Option ID :- 2324,

Answer Given:- Copper , Option ID : -2323
Correct Answer :- Copper Option ID :- 2323

Question ID:- 556

Which of the following is the first two country in the world to setup a
specialised environmental tribunal, before India came up to with National
Green Tribunal (NGT) to become the third ?

Options:-

«Italy and France, Option ID :- 2221,

« Australia and New Zealand, Option ID :- 2222,
» Germany and Austria, Option ID :- 2223,

» United Kingdom and United States of America, Option ID :- 2224,
Answer Given:- Not Attempted
Correct Answer :- Australia and New Zealand Option ID :- 2222

Question ID:- 588
How is Ravi related to the daughter of only daughter-in-law of wife of Ravi's
father?

Options:-

«Father, Option ID :- 2349,

« Mother, Option ID :- 2350,

« Daughter-in-law, Option ID :- 2351,

=« Maternal Uncle, Option ID :- 2352,
Answer Given:- Father, Option ID : -2349
Correct Answer :- Father Option ID :- 2349

Question ID:- 568
Select the approprite option to change the voice of given sentence.

The shopkeeper lowered the prices.

Options:-

» The prices lowered by shopkeeper., Option ID :- 2269,

» The prices were lowered by the shopkeeper., Option ID :- 2270,
» Down towards prices., Option ID :- 2271,

» The shopkeeper got into the prices., Option ID :- 2272,

Answer Given:- The prices were lowered by the shopkeeper., Option ID : -2270
Correct Answer :- The prices were lowered by the shopkeeper. Option ID :- 2270

Question ID:- 509
Who among the following ordered his troops to fire upon the unarmed crowd
gathered at the Jallianwala Bagh?

Options:-
=« General Hugh Rose, Option ID :- 2033,
» Lord Curzon, Option ID :- 2034,
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» The Lord Irwin, Option ID :- 2036,
Answer Given:- General Dyer, Option ID : -2035
Correct Answer :- General Dyer Option ID :- 2035
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Question ID:- 503
Cabinet committee on Economic Affairs (CCEA) approved "National Technical
Textile Mission" has implementation period of how many years?

Options:-

« 2 yrs, Option ID :- 2009,
« 3 yrs, Option ID :- 2010,
= 4 yrs, Option ID :- 2011,

« 5 yrs, Option ID :- 2012,
Answer Given:- Not Attempted
Correct Answer :- 4 yrs Option ID :- 2011

Question ID:- 594
Complete the below series from the following given options :

[3, 4, 5]===>35;
[5, 6, 2]===>22;
[8, 4, 3]===>36;
[7,2,3]==>7

Options:-

«24, Option ID :- 2373,
« 27, Option ID :- 2374,
« 29, Option ID :- 2375,

= 40, Option ID :- 2376,
Answer Given:- 27, Option ID : -2374
Correct Answer :- 27 Option ID :- 2374

Question ID:- 597
In certain code language, BAD is written as "7" and SAP is written as "9".
How is "BAN" is written in that code language ?

Options:-

=8, Option ID :- 2385,
« 2, Option ID :- 2386,
« 7, Option ID :- 2387,

« hone of these, Option ID :- 2388,
Answer Given:- Not Attempted
Correct Answer :- 8 Option ID :- 2385

Question ID:- 567
Choose the correctly spelt word from the following options.

Options:-

sallegiance, Option ID :- 2265,
» allegience, Option ID :- 2266,
» allegaince, Option ID :- 2267,

= aleaiance, Option ID :- 2268.
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Question ID:- 555
Reducing or stabilizing the level of greenhouse gases in the atmosphere is
called:

Options:-

«Climate Adaptation, Option ID :- 2217,
»« Climate Resilience, Option ID :- 2218,
« Climate Mitigation, Option ID :- 2219,

= None of these, Option ID :- 2220,
Answer Given:- Climate Mitigation, Option ID : -2219
Correct Answer :- Climate Mitigation Option ID :- 2219

Question ID:- 550

What are some of the threats that soils are currently facing ?
1. Salinity and acidification

2. Increasing insects

3. Loss of biodiversity

Options:-

«1 and 2, Option ID :- 2197,
« 2 and 3, Option ID :- 2198,
« 1 and 3, Option ID :- 2199,

« 1, 2 and 3, Option ID :- 2200,
Answer Given:- 1 and 3, Option ID : -2199
Correct Answer :- 1 and 3 Option ID :- 2199

Question ID:- 527
President can give his resignation in writing to :

Options:-

«Prime Minister, Option ID :- 2105,

» Chief Justice of India, Option ID :- 2106,
» Attorney General , Option ID :- 2107,

« Vice President, Option ID :- 2108,
Answer Given:- Chief Justice of India, Option ID : -2106
Correct Answer :- Vice President Option ID :- 2108

Question ID:- 526

What is the term of office of President?
Options:-

«5, Option ID :- 2101,

« 6, Option ID :- 2102,

« 7, Option ID :- 2103,

= As he wishes, Option ID :- 2104,
Answer Given:- 5, Option ID : -2101
Correct Answer :- 5 Option ID :- 2101

Question ID:- 546
Which Indian Telecom operator was voted the second most valuable

~ A
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«BSNL, Option ID :- 2181,
« JIO, Option ID :- 2182,
» Vodafone, Option ID :- 2183,

« Bharti Airtel, Option ID :- 2184,
Answer Given:- Not Attempted
Correct Answer :- Bharti Airtel Option ID :- 2184

GET IT ON
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Question ID:- 532
Who administers Union Territory of a country ?

Options:-

«Prime minister, Option ID :- 2125,

»« Deputy chairman, Option ID :- 2126,
» President, Option ID :- 2127,

» Union minister, Option ID :- 2128,
Answer Given:- President, Option ID : -2127
Correct Answer :- President Option ID :- 2127

Question ID:- 533

Which Part of the J&K Reorganisation Act, 2019, deals with Scheduled
Castes and Scheduled Tribes?

Options:-

«Part II, Option ID :- 2129,
« Part X, Option ID :- 2130,
« Part VI, Option ID :- 2131,

« Part III, Option ID :- 2132,
Answer Given:- Part VI, Option ID : -2131
Correct Answer :- Part VI Option ID :- 2131

Question ID:- 609
A bag contains 6 white and 4 black balls , 2 balls are drawn at random. Find
the probability that they are of same colour.

Options:-

« 7/15, Option ID :- 2433,
« 3/23, Option ID :- 2434,
« 1/17, Option ID :- 2435,

« 2/19, Option ID :- 2436,
Answer Given:- 7/15, Option ID : -2433
Correct Answer :- 7/15 Option ID :- 2433

Question ID:- 535

In which year did India launch the Targeted Public Distribution System?
Options:-

1990, Option ID :- 2137,

« 1993, Option ID :- 2138,

» 1997, Option ID :- 2139,
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Correct Answer :- 1997 Option ID :- 2139
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Question ID:- 579
Which among the following are oxidizing agents?

Options:-

«Hydrogen peroxide, Option ID :- 2313,
« Potassium nitrate, Option ID :- 2314,
» Chlorine, Option ID :- 2315,

« All of these, Option ID :- 2316,

Answer Given:- All of these, Option ID : -2316
Correct Answer :- All of these Option ID :- 2316

Question ID:- 587
Complete the pattern from the below given figures.

!
X) (1)
Options:-

«4, Option ID :- 2345,
« 3, Option ID :- 2346,
« 2, Option ID :- 2347,

« 1, Option ID :- 2348,
Answer Given:- 4, Option ID : -2345
Correct Answer :- 4 Option ID :- 2345

(2) (3)

Question ID:- 570
Choose the correct option:
Thinking thoughts depletes your energy reserves.

Options:-

snegative, Option ID :- 2277,
« positive, Option ID :- 2278,
= good, Option ID :- 2279,

» hone of these, Option ID :- 2280,

Answer Given:- negative, Option ID : -2277
Correct Answer :- negative Option ID :- 2277

Question ID:- 549
Which of the following animal has been sighted for the first time in
Himalayan cold desert region?

Options:-

«Great Indian Bustard, Option ID :- 2193,
» Himalayan Serow, Option ID :- 2194,

« Black Buck, Option ID :- 2195,

=« None of these, Option ID :- 2196,

Answer Given:- Not Attempted .
Correct Answer :- Himalayan Serow Option ID :- 2194

Page- 18



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Question ID:- 505
Dialogue between king Menander and which of the following Buddhist monk is
portrayed in the Buddhist text 'Milindapanha' ?

Options:-

«Durjuna, Option ID :- 2017,

« Surarjuna, Option ID :- 2018,
» Nagasena, Option ID :- 2019,

« None of these, Option ID :- 2020,
Answer Given:- Not Attempted
Correct Answer :- Nagasena Option ID :- 2019

Question ID:- 561
Fill in the blank using the appropriate word from the following given

option:

There'llbeaprize _ the best painting.
Options:-

«for, Option ID :- 2241,

« from, Option ID :- 2242,

» across, Option ID :- 2243,

« but, Option ID :- 2244,
Answer Given:- for, Option ID : -2241
Correct Answer :- for Option ID :- 2241

Question ID:- 600
Find the Odd One Out from the following given options:

Options:-

s« Markets, Option ID :- 2397,
» Circus, Option ID :- 2398,

« Hospital, Option ID :- 2399,

» Cinema Hall, Option ID :- 2400,
Answer Given:- Hospital, Option ID : -2399
Correct Answer :- Hospital Option ID :- 2399

Question ID:- 506
After successful campaigns Muhammad rested the responsibility of

consolidating the conquests in India on his Governor Qutubuddin Aibak.
Options:-

«Taj al-Din Yildiz, Option ID :- 2021,

» Nasir ad-Din Qabacha, Option ID :- 2022,

« Muhammad Bakhtiyar Khilji, Option ID :- 2023,

« Ghiyath al-Din Mahmud, Option ID :- 2024,
Answer Given:- Not Attempted
Correct Answer :- Ghiyath al-Din Mahmud Option ID :- 2024

Question ID:- 562
Choose from the following given options, the ANTONYM of the given

word:
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Options:-

sextraneous, Option ID :- 2245,

» relevant, Option ID :- 2246,

« appropriate , Option ID :- 2247,

= Suitable, Option ID :- 2248,
Answer Given:- extraneous, Option ID : -2245
Correct Answer :- extraneous Option ID :- 2245
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Question ID:- 516
In which of the following places Dogri language is not spoken ?

Options:-

«Jammu and Kashmir, Option ID :- 2061,
« Punjab, Option ID :- 2062,

« Himachal Pradesh, Option ID :- 2063,

» Ladakh, Option ID :- 2064,
Answer Given:- Ladakh, Option ID : -2064
Correct Answer :- Ladakh Option ID :- 2064

Question ID:- 582
Which among the following does Scorpion use to poison its predators?

Options:-

«Mouth, Option ID :- 2325,

» Leg, Option ID :- 2326,

« pedipalp, Option ID :- 2327,

« tail , Option ID :- 2328,
Answer Given:- Not Attempted
Correct Answer :- tail Option ID :- 2328

Question ID:- 573
Fill in the blank with the correct option:
In any interview, we should express our views

Options:-

sClearly, Option ID :- 2289,

» in a haste, Option ID :- 2290,

» aggressively, Option ID :- 2291,

» hone of these, Option ID :- 2292,
Answer Given:- clearly, Option ID : -2289
Correct Answer :- clearly Option ID :- 2289

Question ID:- 502

What is the name of event, celebrated 6th December of every year, which

commemorates the diplomatic ties of India with Bangladesh?
Options:-

«Saksham Diwas, Option ID :- 2005,

« Sammaan Diwas, Option ID :- 2006,

= Maitri Diwas, Option ID :- 2007,
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Answer Given:- Maitri Diwas, Option ID : -2007
Correct Answer :- Maitri Diwas Option ID :- 2007

Question ID:- 518

Which of the following is true for ocean currents in Northern Hemisphere ?
1. Cold currents are usually found on the west coast of the continents in the
low and middle latitudes

2. Cold currents are found on the east coast in the higher latitudes

3. Warm currents are usually observed on the east coast of continents in the
low and middle latitudes

4. Warm currents are found on the west coasts of continents in high latitudes

Options:-

«1 and 3, Option ID :- 2069,
« 2 and 4, Option ID :- 2070,
« 3 and 4, Option ID :- 2071,

« 1, 2, 3 and 4, Option ID :- 2072,
Answer Given:- Not Attempted
Correct Answer :- 1, 2, 3 and 4 Option ID :- 2072

Question ID:- 519
Which is most active in terms of volcanic eruptions in the Ocean Floor ?

Options:-

«Continental margins, Option ID :- 2073,
« Abyssal plains, Option ID :- 2074,

» Deep-sea basins, Option ID :- 2075,

» Mid-oceanic ridges, Option ID :- 2076,
Answer Given:- Not Attempted
Correct Answer :- Mid-oceanic ridges Option ID :- 2076

Question ID:- 602

Anu’s father is the maternal uncle of Radhika. Srikant is Radhika’s father.
Ganesh is Anu’s grandfather and Harish is his only son. Komal is Harish’s
wife. How is Shrikant related to Komal?

Options:-

«Father, Option ID :- 2405,

» Sister, Option ID :- 2406,

» Grandfather, Option ID :- 2407,

« hone of these, Option ID :- 2408,
Answer Given:- none of these, Option ID : -2408
Correct Answer :- none of these Option ID :- 2408

Question ID:- 580
Which of the following statement(s)/fact(s) is/are true about Laser?

Options:-

sLaser light is highly monochromatic, Option ID :- 2317,

» Laser light is highly coherent, Option ID :- 2318,

» Laser emits light only in one direction, Option ID :- 2319,

» All of these, Option ID :- 2320,
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Correct Answer :- All of these Option ID :- 2320
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Question ID:- 585
In MS Excel, which of the following shortcut is used to open the Paste Special
dialog box?

Options:-

«Ctrl+V, Option ID :- 2337,

« Ctrl+P, Option ID :- 2338,

« Ctrl+Alt+V, Option ID :- 2339,

« Ctrl+Alt+P, Option ID :- 2340,
Answer Given:- Ctrl+Alt+V, Option ID : -2339
Correct Answer :- Ctrl+Alt+V Option ID :- 2339

Question ID:- 599
Select the image that replaces the "?" mark.

G E

Options:-

=a, Option ID :- 2393,
« b, Option ID :- 2394,
= ¢, Option ID :- 2395,

« d, Option ID :- 2396,
Answer Given:- a, Option ID : -2393
Correct Answer :- a Option ID :- 2393

Question ID:- 593
Find the missing term of the series.
"4800,2400, 7200, 10800, 5400, 16200, 8100, 24300"

Options:-

3600, Option ID :- 2369,
« 5200, Option ID :- 2370,
« 6000, Option ID :- 2371,

« 4900, Option ID :- 2372,
Answer Given:- 3600, Option ID : -2369
Correct Answer :- 3600 Option ID :- 2369

Question ID:- 553
Which international agreement aims to ensure that international trade in

specimens of wild animals and plants does not threaten the survival of
the species ?

Options:-

«CITES , Option ID :- 2209,

« UNFCCC, Option ID :- 2210,
« IUCN, Option ID :- 2211,
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Answer Given:- CITES , Option ID : -2209
Correct Answer :- CITES Option ID :- 2209

Question ID:- 563
Choose the correct option from the following to complete the given

sentence:

It alotthroughout the year.
Options:-

«have rained , Option ID :- 2249,
» has rained , Option ID :- 2250,
» raining, Option ID :- 2251,

« has rain, Option ID :- 2252,
Answer Given:- has rained , Option ID : -2250
Correct Answer :- has rained Option ID :- 2250

Question ID:- 531
Prohibition to Human traffickingis a :

Options:-

s Directive principles, Option ID :- 2121,

» Fundamental duty, Option ID :- 2122,

= Right against Exploitation, Option ID :- 2123,

» Right to constitutional remedies, Option ID :- 2124,
Answer Given:- Right against Exploitation, Option ID : -2123
Correct Answer :- Right against Exploitation Option ID :- 2123

Question ID:- 612
Find the mode of 3, 6, 9, 16, 27, 37, 48.

Options:-

«3, Option ID :- 2445,

« 16, Option ID :- 2446,
» 48, Option ID :- 2447,

» None of these , Option ID :- 2448,
Answer Given:- None of these , Option ID : -2448
Correct Answer :- None of these Option ID :- 2448

Question ID:- 559
Choose from the following options, the correct meaning of given idiom:

To raise (a few) eyebrows

Options:-

«to feel nice and kind, Option ID :- 2233,

» to be thirsty and hungry, Option ID :- 2234,

» to cause surprise or shock, Option ID :- 2235,

» raise the level or amount of something, Option ID :- 2236,
Answer Given:- to cause surprise or shock, Option ID : -2235
Correct Answer :- to cause surprise or shock Option ID :- 2235
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manufactured by

Options:-

sSpaceX, Option ID :- 1973,
« NASA, Option ID :- 1974,
« ESA, Option ID :- 1975,

« ISRO, Option ID :- 1976,
Answer Given:- Not Attempted
Correct Answer :- SpaceX Option ID :- 1973

GET IT ON
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Question ID:- 566
Read the below given passage carefully and answer the question from the

following given options:

A volcano is a burning mountain with a great hole running deep into the earth.
Out of it come smoke, gases and stones. The mouth of the opening is called
the crater of the volcano.

Volcanoes are not always burning. Sometimes a volcano will remain quiet for
centuries. And then it will suddenly become active. This is called volcanic
eruption.

When the eruption takes place, great clouds of ashes, dust, gas and steam rise
from the crater. Loud noises come from the crater. After sometime, white hot
molten rock, called lava begins to flow down the mountain sides. This may go
on for days or weeks. Then the volcano will ‘go to sleep’ again for many years.
Most volcanoes are found near the seas.

On the basis of your reading of the above passage fill in the blank with an
appropriate word:
The mouth of the opening is called the of the volcano.

Options:-

sActive, Option ID :- 2261,

« Magma, Option ID :- 2262,
« Crater, Option ID :- 2263,

« Flank, Option ID :- 2264,
Answer Given:- Crater, Option ID : -2263
Correct Answer :- Crater Option ID :- 2263

Question ID:- 504
Who among the following was the last Mauryan emperor ?

Options:-

«Brihadratha, Option ID :- 2013,

» Nandvardhan, Option ID :- 2014,
» Avantiverman, Option ID :- 2015,

« None of these, Option ID :- 2016,
Answer Given:- Not Attempted
Correct Answer :- Brihadratha Option ID :- 2013

Question ID:- 521
Australia is not surrounded by which of the following sea ?

Options:-
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» Koro sea, Option ID :- 2082,
« Timor sea, Option ID :- 2083,

« Tasman sea, Option ID :- 2084,

Answer Given:- Not Attempted
Correct Answer :- Koro sea Option ID :- 2082

GET IT ON
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Question ID:- 552
What is called as the “lungs of the Earth” ?

Options:-

«Tundras, Option ID :- 2205,

» Temperate forest, Option ID :- 2206,
» Coniferous forests, Option ID :- 2207,

» Amazon rainforest, Option ID :- 2208,

Answer Given:- Amazon rainforest, Option ID : -2208
Correct Answer :- Amazon rainforest Option ID :- 2208

Question ID:- 608
Find the smallest number by which 3072 must be multiplied to obtain a
perfect cube.

Options:-

«36, Option ID :- 2429,
« 23, Option ID :- 2430,
« 25, Option ID :- 2431,

« 20, Option ID :- 2432,
Answer Given:- Not Attempted
Correct Answer :- 36 Option ID :- 2429

Question ID:- 558

Choose the part (A/B/C) of the given sentence that contains an error. If
the given sentence does not contain any error, mark "No error" as the
answer. Ignore the punctuation error, if any.

(A)I got up earlier than / (B) usual because | had / (C) to getting the 6.15
flight. / (D) No error.

Options:-

«A, Option ID :- 2229,
« B, Option ID :- 2230,
« C, Option ID :- 2231,

« D, Option ID :- 2232,
Answer Given:- C, Option ID : -2231
Correct Answer :- C Option ID :- 2231

Question ID:- 508
The woman poet within the bhakti tradition, Mirabai was from:

QPptions:-
«Marwar, Option ID :- 2029,
» Jangladesh, Option ID :- 2030,
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»« Mewar, Option ID :- 2032,
Answer Given:- Not Attempted
Correct Answer :- Marwar Option ID :- 2029

Question ID:- 497

Five Asian countries join hands to form palm oil alliance. Who are the

members of this alliance ?

Options:-

«India, Pakistan, Bhutan, Bangladesh & Nepal, Option ID :- 1985,

» India, Pakistan, Sri Lanka, Bangladesh & Bhutan, Option ID :- 1986,
» India, Pakistan, Sri Lanka, Bangladesh & Nepal, Option ID :- 1987,

» India, Indonesia, Sri Lanka, Bangladesh & Nepal, Option ID :- 1988,

Answer Given:- India, Indonesia, Sri Lanka, Bangladesh & Nepal, Option ID : -
1988

Correct Answer :- India, Pakistan, Sri Lanka, Bangladesh & Nepal Option ID :-
1987

Question ID:- 496
Which Organisation celebrated it's 50th anniversary in 2022 ?

Options:-

«United Nations Development Programme, Option ID :- 1981,
» United Nations Environment Programme, Option ID :- 1982,
» United Nations, Option ID :- 1983,

« World Trade Organization, Option ID :- 1984,
Answer Given:- Not Attempted
Correct Answer :- United Nations Environment Programme Option ID :- 1982

Question ID:- 551
The interaction where one species is harmed whereas the other is
unaffected is called which of the following?

Options:-

«Amensalism, Option ID :- 2201,

» Cannibalism, Option ID :- 2202,

» Commensalism, Option ID :- 2203,

=« None of these, Option ID :- 2204,
Answer Given:- Amensalism, Option ID : -2201
Correct Answer :- Amensalism Option ID :- 2201

Question ID:- 584
Which among the following is an example of output device?

Options:-

«Light pen , Option ID :- 2333,
» Joystick , Option ID :- 2334,
« Plotter, Option ID :- 2335,

: Barcode reader, Option ID :- 2336,
Answer Given:- Plotter , Option ID : -2335
Correct Answer :- Plotter Option ID :- 2335
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A laser printer uses which of the following to print?
Options:-

«Diode, Option ID :- 2341,

« Ink ribbon , Option ID :- 2342,

« Spray ink , Option ID :- 2343,

= None of these , Option ID :- 2344,
Answer Given:- Diode, Option ID : -2341
Correct Answer :- None of these Option ID :- 2344

Question ID:- 529
Sovereignity states that :

Options:-

sSovereignity lies with executive, Option ID :- 2113,

» Sovereignity lies with president, Option ID :- 2114,

» Sovereignity lies with the people of India, Option ID :- 2115,

» Sovereignity lies with representatives , Option ID :- 2116,
Answer Given:- Sovereignity lies with the people of India, Option ID : -2115
Correct Answer :- Sovereignity lies with the people of India Option ID :- 2115

Question ID:- 592
If the letters in the word LUMBERJACKS are written in reverse order, then
which alphabet will be in the middle?

Options:-

«B, Option ID :- 2365,
« E, Option ID :- 2366,
« R, Option ID :- 2367,

« C, Option ID :- 2368,
Answer Given:- R, Option ID : -2367
Correct Answer :- R Option ID :- 2367

Question ID:- 595
Odometer is to mileage as ammeter is to-

Options:-

«weight, Option ID :- 2377,
« milk, Option ID :- 2378,

« sword, Option ID :- 2379,

» current, Option ID :- 2380,
Answer Given:- current, Option ID : -2380
Correct Answer :- current Option ID :- 2380

Question ID:- 507
What was the head of the army called as during the Mughal period ?

Options:-
«Alam Gir, Option ID :- 2025,
»« Muhtasib, Option ID :- 2026,

= Mir Rakchi. Ontinn TD - 2027.
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Answer Given:- Mir Bakshi, Option ID : -2027
Correct Answer :- Mir Bakshi Option ID :- 2027

Question ID:- 572

Identify the four important sections of a good business letter.

Options:-

«Salutation, Opening, Body, and Signature, Option ID :- 2285,

» Reference number, Subject line, Salutation, and Signature, Option ID :- 2286,
»« Heading, Opening, Body, and Closing, Option ID :- 2287,

» Heading, Subject, Salutation, and Signature, Option ID :- 2288,
Answer Given:- Not Attempted
Correct Answer :- Heading, Opening, Body, and Closing Option ID :- 2287

Question ID:- 524
For how many months Preventive detention can be extended ?

Options:-

«1 month, Option ID :- 2093,

« 2 months, Option ID :- 2094,
» 3 months, Option ID :- 2095,

= 4 months, Option ID :- 2096,
Answer Given:- 3 months, Option ID : -2095
Correct Answer :- 3 months Option ID :- 2095

Question ID:- 543
The Central government abolished the Banking Services Recruitment
Boards in

Options:-

»2000, Option ID :- 2169,
« 2002, Option ID :- 2170,
« 2004, Option ID :- 2171,

« 2006, Option ID :- 2172,
Answer Given:- Not Attempted
Correct Answer :- 2002 Option ID :- 2170

Question ID:- 603
Directions: Study the below given line graph and answer the

given question:
Number of Vehicles manufactured by two companies over the Years (Number in Thousands)
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What is the average numbers of vehicles manufactured by
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Options:-

«»115533, Option ID :- 2409,
«» 112222, Option ID :- 2410,
» 119333, Option ID :- 2411,

« 119378, Option ID :- 2412,
Answer Given:- 119333, Option ID : -2411
Correct Answer :- 119333 Option ID :- 2411

Question ID:- 493

What was the theme of Indian Ocean Conference, held in Abu Dhabi?
Options:-

«Ecology, Economy, Epidemic, Option ID :- 1969,

» Indian Ocean promise for Maritime, Option ID :- 1970,
» Bridging water borders, Option ID :- 1971,

» Together we save Ecology, Option ID :- 1972,
Answer Given:- Not Attempted
Correct Answer :- Ecology, Economy, Epidemic Option ID :- 1969

Question ID:- 513
Rudraprayag is confluence of rivers:

Options:-

sAlaknanda and Mandakini, Option ID :- 2049,
» Alaknanda and Pindar, Option ID :- 2050,

» Mandakini and Bhagirathi, Option ID :- 2051,

» Alaknanda and Nandakini, Option ID :- 2052,
Answer Given:- Alaknanda and Pindar, Option ID : -2050
Correct Answer :- Alaknanda and Mandakini Option ID :- 2049

Question ID:- 498
Agriculture Minister Narendra Singh Tomar launches indigenous vaccine

Lumpi-ProVac to protect livestock from Lumpy Skin disease. The vaccine is
developed by

Options:-

«National Equine Research Center, Option ID :- 1989,
» Serum Institute of India, Option ID :- 1990,

« Bharat Biotech, Option ID :- 1991,

» The National Institute of Virology, Option ID :- 1992,
Answer Given:- Not Attempted
Correct Answer :- National Equine Research Center Option ID :- 1989

Question ID:- 577
Which of the following is the other name of Vitamin C?

Options:-

sAscorbic acid, Option ID :- 2305,
« Formic acid, Option ID :- 2306,
» Acetic acid, Option ID :- 2307,
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Answer Given:- Ascorbic acid, Option ID : -2305
Correct Answer :- Ascorbic acid Option ID :- 2305

Question ID:- 542

What is the name of the first Indian to win a Noble Prize in Economics?
Options:-

«Raghuram Rajan, Option ID :- 2165,

« Dadabhai Naoroji, Option ID :- 2166,

« Amartya Sen, Option ID :- 2167, . Rabindranth Tagore, Option ID :- 2168,

Answer Given:- Amartya Sen, Option ID : -2167
Correct Answer :- Amartya Sen Option ID :- 2167

Question ID:- 576
Which of the following gas is a greenhouse gas?

Options:-

«Nitrogen dioxide, Option ID :- 2301,

» Carbon dioxide, Option ID :- 2302,

» Carbon hydroxide, Option ID :- 2303,
» Hydrogen sulphide, Option ID :- 2304,

Answer Given:- Carbon dioxide, Option ID : -2302
Correct Answer :- Carbon dioxide Option ID :- 2302
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